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Section 1
Gina and Mil equally

out a bagful of cherris. There

shared

Section 2
Fil inthe missing boves.

Section 3
Complete these statements.

Section 4
How many 10ps would you need to make £22

was one left over. Both girls had +oj20s
(s - ||t
How many cheres would have Fome
been n the bag? .

o 3= |,
Section 5 Section 7 Section 8
Whichtimes table are these rumbers Addition Pyramid How many minutes re there i 2 hours?
Jrom? Tip: Th bottom rumbers add together to make the
5 2 15 3 4 55 top number

2 How many minutes are there i 1 hows?

Section 6
T count 12 pirs o socks, how many 12

socks are there altogeth

er?

)

Show your working out.
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Section 1

12 cheries.

been in the bag?

Gina and Mill equally shared
out a bagful of cherris. There
was ane left ove. Both gils had

How many cherries would have

L=

Section 2
Fil inthe missing boves

Section 3

Complee these starements:

So0e,

of 20is

dof20s

10

15

Section 4
How many 10ps would you need to make £22

Section 5
Which times table are thse numbers
from?

5 20 15 3 40 55

Se

n 6

5 table

11 count 12 pars of sacks, how many

socks are there altogether?

Section 7
Addion Pyamid
Tips The botom rumbers add together to make the
top rumber
7
12 15

Section 8

How many minutes are there in 2 hours?

How many minues arethere o 1 has?

Show your working out.
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Section 1

There are 4 bridesmaids at a
wedding,Each bidesmaid needs 5
roses i thei bouguet. How many

Section 2 Section 3
f A equals 10, what s B?
B 50 75 W

Put these numbers on the number line

) [
Section 4 Section 6 Section 7 Section 8
v el [ poet v eriagll B P atoreto

are not pink?

C_J

Section 5
Can you show 2 difernt ways t0
mabe 2897

Naz. Then she gives 8 to
Meg, How many beads
does she have lft?

C_ )| C

o Je-w

e -
-
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Section 1

There are 4 bridesmaids at a
wedding,Each bidesmaid needs 5
roses n thei bouguet. How many
roses wil ther be ltogether?

Section 2 Section 3
1 A equals 10, what s B? Put these numbers on the number line

B 50 75 W

E 2 B4 50 60 758 % 100

5+A=B

Section 4
There are 16 cups o shelf. Hal of
them are pink. How many of them

are not pink?

Section 5
Can you show 2 difernt ways to
mabe 2897

2 correct ways to make 28p.
Eg.20p+5p +2p+1
10p+10p+2p+2p+2p +2p

Section 6 Section 7 Section 8

Jane has 20 beads. She Dan wil go to bed at .30, How Putthe comect signin. %+ +

ges haf of them to ongis i unil is bectime?

Naz. Then she gies 8 to

e tap e

does she have et?
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